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Home Assignment for SSC & Railway Aspirant
1. WTgelc I TSET e fohw Sta 3Rfaa & 7 &2

A. 3T fFeER B. #ar &dr
C. sk D. &grar-feamar
Ans. C

Sol.*HZAT dell ASET 3eTTe el H gl Tg A IRMETT &7F & § 3R o ey gl § Fore gl
* Igl 91T ST aTel 9@ Sia-5iq 8- A & GG dlell IR, STE, SiETell HS, g3, Sirel g3r, =,
AR fdorma 31X ||

2. ARd T 8 GFATAT ugelr Afgelr Hi §2

A. TS A1 B. #He xar
C. gfexr anehr D. TH. TH. gegolaH
Ans. C

Sol. * 3fexr e 1971 H HRA IeT & GFATAT gl dTell Ygell Afgelm i)

* HeI TXAT 1980 H HRC Icel Ulel dlell g@dl Afgelm sl

o Sfexr ael & 1966-1977 deh IRT T TUEHA & & F Fr7 fHar 30T 1980 & 1984 de T &
N GEY HIY ol AR TAAA Tl

3. GRAYT FT Sl T BEET IMATARIlT Y=l & aid 87?2

A. HTIT XX B. #1T XVIII
C. #1971 XVI D. &t XXII
Ans. B

Sol. * 3Tede 352 & 360 WA & HET XVIIl & IRl LA §. §oT Tatilall Sl e &
AT F@iaurT @ 3R for=r = Bl

» gfaued # i R A 3mara FFfadt & e fRar gl

1) 3Tede 352- USE TR

2) 3Tde 356- T H 3TUTdenlel (Tegufay arde)

3) 3Tese 360- faehg 3muTcenrer

4. FO F1 IARRE 19 HRAT T & e g # afvia g2

A. 3ede 315 B. 3fJee 343
C. 3fze 351 D. 3fede 345
Ans. B

Sol. * HAUET & 3Jede 343 H gl IRAT § b o AT T SRy fafy & fEer gom|
* S T TES ITUT AU ALt Acll, A9 o HiAUT o] g1 o 15 ¥ e A 26 Steadr 1965
T 37AST FHT 3UATT &§¢ gl 2T
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* HAUT &7 Ifee 345 frdl AT &1 TSTHST A1 A3 & FfOT §1 I8 T fau=dse =i,
TITT TSI & G AT el ATHHT TASTAT & TIT AT d7 STeT aTell HTNT AT T3 & & A,
fEEr a1 Usg & ST F oS S arely Aot H O R v @ 39 v A weeT aar Bl

5. 3TN a8 A ATT &9 ¥ fhy ded & MFASS gl 87

A. T 3R e B. BREHBRY 3R M
C. Fea 3R FeT D. TaH 3R 9rr
Ans. A

Sol. * 3T au # H&T FT F Fewt AR ST & 3HFES B £

* ArsaIete 3N Tow & JHFASs YT & FHUI & AU gaT ¥ 33 Sd g1 9 a1 & & H o 37 &
e gt T Fg W aF A B

 ufds aier & 5.5 ph gar ¢ 3R Ag Tareey, gateRor 3R foaa TARe 3R sARA & o

fawrera &1

* dISTAGS 3ol asT & HIHT &G dh JHIfad &1 Ig TIFERF & W1 A BT §1 &l g 3R 88
g ofaa off &e 8 ST B

* ¢ TH BAY & ggell R 1852 H HTAIE, S7els & UfAs an 3R argHAsT Jquor & o

oy fe@mar |

6. PFAfaf@d @er # i @ Fear yeAaras e (?) # gfaeaid #Em?
14, 18, 32, 50, ?

A. 82 B. 99
C. 59 D. 86
Ans. A
Sol. Logic is- 14+18=32

18+32=50

32+50=82

Hence, the correct answer is option A.

7. 3ERE & 3T TAIST B TqoT B, G U 3T HRTel W HifAS T & I@T ST o |
abba_babb_bbab _abba ba b

A. aaabb B. babaa
C. baaab D. babbb
Ans. D

Sol. Logic- abbabb is repeated 4 times.
abbabb/abbabb/abbabb/abbabb
Hence, the correct answer is option D.
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8. AR TSl & Teh gohs HI HIS I A AR 5 TR HIS T FHETST ST H1eT IAT § P DTt
X, Y 3R Z & c2iar 3 &1 Sre @ S )W R gem?

™, _,"T\‘
I 1
@ ‘,r ./'
) ¢ 9 ¢9 e 9
D © © ©
A B. C. D.

Ans. D

Sol.

As it is punched in a book-folding manner and then again it gets punched. So, when we open
it up there will be figure as shown in option (D).

@9
G D
Hence, option (D) is correct.

9. T fAfREd e &9 #, SCHOLARSHIP &I QSKETBVNLVT & &9 # fo@r Sfdr §, o 38 %e
AT H PERSONALITY &1 & for@r smeen?

A. TWUGQOEYMOC B. TWQGUOEYMOC
C. TWUGQOMYEOC D. TWUGQOEYCOM
Ans. A
Sol.

As,

+1 42 +3  +4 +5 +1  +2 +3  +4 +5 +6

S C H 0 L R S

Q S K E T A N L A T
Similarly,
+1 +2 +3 +4 +5 +1 +2 +3 +4 +5 +6
P E R s o N A L 1 T Y
T WU G Q 8] E A M o C

Hence, the correct answer is option A.
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10. T qTH HT 3R AR I §T Teod! = Fe, "3HHT faarg AY TR HIS AT AT AdRT & TTT
g3 &1 TR, Joordl & fhd 9o |eifea 82

A. 3Er B. RTeraa-at
C. |Arar D. 99

Ans. A

Sol.

Family tree can be draw as given below-

Natasha(-) mMan{ﬂ

{nty

. — Pallavi
{Cousin

From the above diagram, its clear that Natasha is the aunt of Pallavi.
Hence, the correct answer is option A.

11. U fAHAT 3cdiest &7 derd W 39el A Hed 27% daF & g1 Al 3curest H amra 17%
g¢ STl § 3R #ATar 319l ST 12% 6T &ar §, ar 391 gfaerd omeT 37 gem?

A. 33;—:% B. 31 %
13 5

C.27—% D. 21- %
35 9

Ans. D
Sol.
Let cost of production of article = Rs. 100

~S.P=Rs.127

New cost of production = Rs. 117

—127)(112—1%514224
100 T

142.24— 117
~ Profit % = ( ))( 100

117
_25.24X 100

117

_2524_2150/
117 “"97°

Hence, option D is correct.
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12.A 3R B U @1y 8 feall # #1$ &\ qU o} Fhd ¢ B AR C FAE &1 & 80/9 = & qur
W Th &1 A o HH YE Har AR 4 et dow e fRar| 8 et d& B 3R C A i dwtar Sl
@il df C AR A & FH QU el & el & He fehelalr glam?

A. 46 B. 32
C. 20 D. 40
Ans. D
Sol.

1
(A+ B)'s 1 day’'s work = 3

9

B+ C)'s 1 day’s work = —
( )'s 1 day's wor 30

Let A alone do the work in x days.
According to the question,

4,8%x9
x 80
4 9 1
—-—=1-"=_
X 10 10
= X = 40 days

e davewo L L 51 _4 1
TESIAAYSWOIRTST 40 40 40 10

et davswopk— 2 L 978 _1
SLAAYSWOIR =957 10 80 80

= time taken by C = 80 days
=~ required difference = 80 — 40 = 40 days

Option D is correct.

13.X &7 #AT AT Y, difes TTd-37hT T&IT 91876x2, 72 ¥ FHT=T & FT?

A. 7 B. 5
C.3 D. 2
Ans. C

Sol. Given that the seven-digit number 91876x2 is divisible by 72.

Factors of 72 = 9 x 8

So, the above given number must be divisible by 72.

If we apply divisibility rule of 9 here, then resultant of 9+1+8+7+6+x+2 must be divisible by 9.
Resultant = 33+x

To make 33+X divisible by 9, X = 3.
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Hence, the digit is 3.
Hence, option C is the correct answer.

14.3g O dlel U gd #, AB T = § 3R CD U Siiar 30 YR & f ABCD Us @Holrd gl Ife
LBAC = 28° §, a@ LCAD &7 7 & fordeh &R gem?

A. 62° B. 34°
C. 28° D. 32°
Ans. B

Sol. Given 2BAC = 28°

We know that alternate angles of two parallel lines are equal.
¢BAC = +DCA = 28°

In triangle ABC, 2BCA = 9(°

LBAC + £ABC +.BCA = 180°

28° + LABC +90° = 18(°

LABC = 62

In triangle ACD,

LCAD + +tADC +.DCA = 18(°

LCAD + 118°+28° = 18(°

£CAD = 34°

Hence, option B is the correct answer.

150 (a+ b) =6 A ab=8 & ar (& + 1) BT & ¥ Frad aex gem?

A. 108 B. 72
C. 216 D. 144
Ans. B

Sol. Given (a + b) =6 and ab = 8
(a+b)® = a®> + b + 3ab (a+b)
a®+b>=6-3x8x6

a® + b® =216 - 144

a®+ b’=72

Hence, option B is the correct answer.
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